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q Ca— e HE

(3) I BMcTEN YGRS HHiw gEe Iafrha fafire mft eafreradtier gErwTer 3 e g .
@) () T TEYfHda TAF T 4 i IR gafdeh g W= 1, 2, 3 o 4 9@ i e ama.
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YR IRUCFFR ITCHHTS TG HAFT dt GEfUd TEHRURIEHR SEifhd e quiden Jd ardt

T} e, PrRiar e e IR StEs araud, 3 Jn wnER 9O age .
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1. Ffor % 3 qeddier sy FARER B, HT feamEr TR e
BUE WA HE™ Hoddd ATeANS a1 Tewias GuTSien guvs F Faamiiens Svamm!

T BTG W fm.
(1) THAW TST@ AT FOE HAT
(2) g B BIOGR A T ST IFAEE
(3) TOTIGUE I ST FRAE HIH
(4) warn FE o anfyr saféme wray ggTn
and were two Building Contractors in Mumbai who realised the
importance of modern print media in the spread of ideas and donated a printing
press to the Satyashodhak Samaj so that the Samaj could pubhsh their books and
journals,
(1) Tukaram Padval and Krishnarao Bhalekar
(2) Vyanku Baloji Kalewar and Ramayya Vyankayya Ayyawaru
(3) Ganpatrao Patil and Krishnarao Bhalekar
(4) Jaaya Karadi Lingu and Jaysingrao Saibu Vadnala

2. ¥ ScieHed e T S s Rt freget aw g 2k,
(1) gEw | (2) TITES FE0 TREA
(3) fommae e AT (4) vETSSH e FHi
_ got the prestigious Shivaji scholarship to go to England for studying law.
(1) Khudiram Bose (2) Gopal Krishna Gokhale
(3) Vinayak Damodar Savarkar (4) Shyamji Krishna Varma
3. S AEIH A7 FIedl Tsadie QAT HIAIHATER Higv T,
. HBRM Wi g 9. HigR 7 99WE
F.  AIE gE g, yAlR 929
g I ;

1) #,9,%,3 (2) ®,%, 3,8 3 ¥a4,%,9,3 4) 9,%,3,H
Arrange these movements led by Dr. Ambedkar in their chronological order.

a. Kalaram Mandir Satyagraha b. Chowdar Tank Satyagraha
¢.  Burning the text of Manusmriti d. Movement of religious conversion
Answer options :
(1) ab,c,d (2) b,c,a,d (3) a,e, b, d 4) b,ed,a

4. vibg foemEa ofr aww adhdd QEmvemel Sl T swdE e ==t wEw e
g TERETE i go At agumon aeadi el o
(1) waf 9293 (2) g ST
(3) TRUW ASHS (4) il a=ae
Noted philosopher and public intellectual Tarkateerth Laxmanshastri Joshi, in his
article discussing the Indian Renaissance, compared the in Maharashtra
with the Protestant Reformation in Europe.
(1) Bhakti Movement (2) National Movement
(3) Non-Brahmin Movement (4) Tribal Movement
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5. SR fRaads AHL gegs S gR 2

(1) AW HEt e ‘

(2) T WERE

(3) #fiurg 3mgd sM

(4) Tarh R

The founder of Kamgar Hitvardhak Sabha is

(1) Narayan Meghaji Lokhande

(2) S.N. Bhalerao

(3) Shripad Amrit Dange

(4) Bhivaji Nare

6.  TEII! FIUH ATHE IS GHIS 5 gIaet 7ot ?

(1) ehiwwhag (2) Ty
(3) faog arm (4) TR
Which of the following plays was rot prescribed by the British government ?
(1) XKeechakvadh {2) Dandadhari
{3) Vijay Toran (4) Tritiya Ratna
7. AW TGRS TEE SNeIEed o au aeangiel fan el . s o
W HeUE Al YFadl HOIE T S GO 1924 AE) 3. 9ig Sl g9 geH
F& QU THN e,
(1) &&@ dgeh (2) T farR
(3) THTE Y ) . e

_ was sentenced to two years of rigorous imprisonment for publishing a
seditious book. The British government in 1924, offered to set him free, provided he
was to accept certain conditions, however he refused such a conditional release.

(1) Hasrat Mohani (2) Rangrao Diwakar
(3) Rambhau Pradhan (4 B.G.Horniman
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8.  WEH Fol TeaAmered JEedh S U s amg ?

(1) o Frergen SRieuw T8 T w.

(2) S e @ g Tt

(3) T I fage Sresda T Hea FHel.

(4) T GIYE TS O FAL.

Which of the following statements about Mahatma‘Phule is not true ?

(1) He started a shelter for preven_tibn of infanticide. ‘
(2) He authored the book ‘Jati Bhed Vivek Saar’.

(3) He was supported in his work by Moro Vitthal Walvekar.

(4) He founded Satyashodhak Samaj.

—

9,  TFE VA=A FEHEHH Wi A g O T FEe 9Ra e, W A Fegmngd

TR FOR AT Horedl TRt FaTagit o= 8 T THeaes [Et __ T wew
A1 el

(1) Y. W (2) daRW Sy S

(3) fomvee deaars @ . e

The Bombay Provincial Legislative Council passed an act concerning compulsory
primary education but did not define any deadline nor specified the responsibility of
education and hence invited strong criticism from

(1) R.P. Paranjpe (2) Sitaram Keshav Bole
(3) Chimanlal Setalvad (4) B.R. Ambedkar

10. TO9 WER A0 ARAE Taed yamed iy mﬂmmﬁmm

v sreagdaTe Breeer aftd Sneh B,
(1) S=LUW. Sog@ad - (2) R fiw
(3) g fafersmw . (4) BB A

A three-member commission appointed to make recommendations regarding the
financial relations between the princely states and the British government in India

was headed by _
(1) W.S. Holdsworth (2) Sidney Peel
(3) Rushbrook Williams (4) Harcourt Butler

Y
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11, wfum a9 age aide oo vy o, TR s g freas 77 feauht
FOATT A
(1) 20 AT 1947 (2) 29 AT 1947
(3) 14 FrdeX 1947 (4) 24 99 1947
Dr. Babasaheb Ambedkar was chosen as the Chairman of Drafting Committee of the
Constituent Assembly on
(1) 20th August 1947 (2y 29th August 1947
(3) 14th November 1947 (4) 24th September 1947

12, fourmw segarh &3 omga
A, TaymEH=a AghE FAEE T [EU.
g, Huenre fammn o aEn g ot smaesav S,
%. wrEr fafay afcrn s THoE .

gt IW ;
(1) ®F A, T (2) WHd 3, H
(3) ®H A, & (4) hUh o

Functions of the Speaker of Legislative Assembly are

a. To preside over the meetings of the Legislative Assembly.

b. To interpret rules of business and enforce them.

c¢. To appoint the chairman of different committees of the House.

Answer options:
(1) Onlya,b (2) Onlya,c
(3) Onlyb, ¢ (4) All of the above

13. 123 AR AiaH gEed fatws 2017 S d@efid o ?
(1) TuHed AfgHT ST
(2) vt wlamTen qere aitfe ged
(3) U¥R AATEErTa SENTen Hauii gt 30
(4) vl sfavmETem 8 = wRivere Sfifer @1 wiren 9Md 9o e 4 oNfEEr @
FT0

The 123rd Constitution Amendment Bill 2017 is dealing with

(1) Women reservations in Parliament

(2) Amendment to 6th Schedule of Constitution of India

(3) Granting National Commission on Backward Classes (NCBC) constitutional
status

(4) Substituting the name of the language which appeared as ‘Oriya’ in the
gth Schedule  of the Constitution of India with ‘Cdia’

Foeq] FFTATE! SR / SPACE FOR ROUGH WORK
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14, YRATSA HaTE _AETeEn evt gegre faumA gfie ey
§. W SR wete AR ST Te ATt ¥ HE Gada Ridee .
%, waE AEeE AfeiEE oaged 1937 9 1950 T et $IE A% $ieA 3 w@rean s

FR B
i I
(1 =,9 (2) wRE @) *,3 4) E N

Find the incorrect statement/s about Supreme Court of India (SCI).

a. SCI functioned from the Parliamentary House till it moved to the present
building.

b. The Constitution of India has left it to the Parliament to increase the number
of judges of SCI.

c.  Prior to SCI, from 1937 to 1950 the Federal Court of India was in place of it.

d. The proceedings of the Supreme Court of India are conducted in English and
Hindi only.

Answer options : :

(1) a,b (2) Onlyd 3) cd (4) Onlya

15, TSURAAl TEHES 9194 Wietehl v e stis 3787 ?
(1) 9. SATEES FEE TH1 GaR Foicdl  Higeedl Ifeni=al SEET i .
(2) 1995 Aefiet Wl Sfie famn Fma @eed ‘TR 81 Tsaue Ghifers Wi AR I
At ArTeEE youed .
(3) 1975 =1 42 S TSAGER HEATY Teda-d — GHIETY, uﬁﬁtﬁaammwm
TS GHIEY A AT 3R,
(4) YIS 81 FECHSHT= USR] Tad TEl T AT AR Ty-d e T

Which one of the following statements about the ‘Preamble’ of the Constltutlon is
not correct ?

(1) It is based on the ‘Objective Resolution’ drafted and moved by Pandit
Jawaharlal Nehru.

(2) In the LIC of India case (1995), the Supreme Court held that the ‘Preamble’ is
an integral part of the Constitution.

(3) The 4224 Amendment Act of 1975 added three new words — Socialist, Secular
and Unity to the Preamble.

(4) It is neither a source of power to legislature nor a prohibition upon the powers
of legislature,

TR BTTHIST ST / SPACE FOR ROUGH WORK | PT.O.
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Match the pairs regarding comments of experts about the Indian Federation :

a.

b.

C.

d.

K.C. Wheare
Granville Austin
Morris-Jones

Ivor Jennings

Answer options:

(D
(2)
3
(4)

a b c
I II III
I I1 I
AY ITI I1

III I1 v

I

L

III.

- 4 4 B

f—t

Bargaining federation
Co-operative federation
Quasi-federal

Federation with a strong centralising tendency
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17. fya onftr saferma wardsam @ (See-21) 91w _ _ <1 UEH g

¥, R WO 8

%.  WeawEs sdde S o

. SHEAEE

3. hiqamren g v

Tt 3 .

(1 /9 2 9,%,% 3) #A,9,%T . @ %33

The scope of Right to life and personal liberty (Article 21) includes :
a. Right to strike .

b. | Right to go abroad

Prisoners right to have necessities of life

d. Right to bonus

e. Right against solitary confinement

e

Answer options : ‘
(1) a,b (2) b, c, e (3) a,b,d (4) cd, e

18. Gy Hiv faam g g ? ( ugrtrgmrraauh) \

(1) fum wRwd=a r=amE Ui" Yan Wd TEld 3q% e ‘e aidie uﬁlﬁ%ﬂr—a
TWHEEE] AHAERE HUd AT,

(2) fqum sfwd=n sTea&mE g Y& S T $ah d9ged Turdl or A e
Hd ATT. |

(3) foum uive=mn rea@ U AW IRG A 9% GGe  AEdHE I9RH |iidie
yfefefies Femad amtEia s armaE.

(4) o0 vl T

Which one of the following statements is false ? (With reference to Maharashtra)

(1) The Chairman of the Legislative Council has to nominate not more than five
members to represent on the ‘Estimate Committee’.

(2) The Chairman of the Legislative Council has to nominate not more than five
members on the committee on ‘Panchayati Raj’. |

(3) The Chairman of the Legislative Council has to nominate not more than five
members to represent on the committee on ‘Public Undertakings’.

(4) None of the above |

JPRT HHTEIS! AN | SPACE FOR ROUGH WORK P.T:O.
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19. R ToEuEAN ARG 51A TEd GiEledeh! HIVAT AT HAarar GHEY HUFE A
et ?
A, A A EEHAA GG AT Wi SUE @ S .
9.  fameRs gEeN, THadEE St usgg 9 GURUTEE Fan fase H,
%, TP g wewre s S St S, T S R A HE,
g ARE U¥ 9 SR HUEHRH N el g 9T T HOATE §e) A,
Tt I
(1) &, wanfors
(2) ¥, &AM
(3) &g
4 ST
Which of the following is/are nof included us Fundamental Duties in Article 51A of
the Constitution of India ?
To value and preserve the rich heritage of the country’s composite culture.

b. To develop the scientific temper, humanism and the spirit of inquiry and
reform.

¢. To protect monuments, places and objects of artistic or historic significance
which are declared to be of national impertance.

d. To prohibit the consumption of intoxicating drinks and drugs which are
injurious to health.

Answer options:
(1) a,bande

(2) b,candd

(3) candd

{4) Onlyb

20. WWWWWMW%WWW
gy STVITHEET 1R ?
(1) 47 (2) 48 (3) 49 (4) 50
Which one of the following Articles of the Directive Principles of State Policy deals
with the separation of judiciary from executive ?
(1) 47 (2) 48 (3) 49 (4) 50

HTT THTATS! AT / SPACE FOR ROUGH WORK
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21. S W&l — (S NERIY Seadidie dadd )

‘o7 (gav)
A e
R
% WM
g.
et

H q
O m I
2) II II1
@ I v
@ v I

‘T (TIRH | )

II. e 3
II1. maaaaﬁaﬂ

W WEWE B V. Yo 30

& E-

I IT
13 I
III I

I I11

Match the pairs — (Newspapers in Samyukta Maharashtra Movement)

a.
b.
c.

d.

Answer options :

(D
(2)
(3)
4)

‘A’ (Newspaper)
Prabodhan

Navyug

Prabhat

‘B’ (Editor /| Owner)
I.  Dinu Randive
II. Keshav Thakre

III. Walchand Kothari

Samyukta Maharashtra Patrika IV. Pralhad Atre

- a

I11
11
I

v

b
v
III
v
I

c d
1 II
v I
mr I

I 11
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22.

12
gt wgen Heuld, Welie W Ty e ;
o (%) T ()
A. Had 153 I Rymwden sy 9 soeay
|, HIW 178 I, T HRIEw
%, FH 171 I TSR Tt s
3. FH 165 Iv. fqum ofeee = @
wreftel fededn a3 I e
it e
A = .
(1) Il I v 11
(2) IV 11 1 111
3) 11 11 v 1
4) 1 v 11 111

Match the following pairs correctly regarding Constitutional provisions :

‘A’ (Articles) ‘B’ (Provisions)
a. Article 153 I.  The Speaker and Deputy Speaker of the
Legislative Assembly
b.  Article 178 II. Advocate-General for the State
c. Article 171 ITI. There shall be a Governor for each State
d. Article 165 IV. Composition of the Legislative Council

Choose the correct answer from the codes given below :
Answer options :
a b c d
(1) 10 I v II
(2) IV 11 I I
(3) 1III 11 Iv I
4) 1 v i I

FEEYT FHTETS TR / SPACE FOR ROUGH WORK

it s v e 4 e b R
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23. A Hu4 SEI
., Wy wEwy AR e wde. el e seEmdEre I A 6 $gar, 1956 s

ELS) ,

4. W e, Yeee SR hete it fég werew ¥ wyw wewy wfrdired wefien Wi
T,

aatdt 3= : |

(1) wHW A o @ wHs |

(8) 31 anfdr = a (4) ¥ i 5 g T

Select the correct statement.

a. Samyukta Maharashtra Samiti was established under the chairmanship of
S.M. Joshi in Pune on 6 February, 1956,

b. - Bhartiya Jansangh, Schedule Caste Federation and Hindu Mahasabha were
involved in Samyukta Maharashtra Samiti.

Answer options :
(1) Onlya (2) Onlyb
(3) Bothaandb (4) Neitheranorb

24, T B fum g o 2 :
A, AR — FHGSA] DEGNET HAF TN En[ TR Igu- Hat 919 T TTE.
. anznisr qdaat yETET fhar HHe HivATdl FEG SR SO R © T g

. mmmmw@mmm
it 3
(1) % A (2) T § 3 wHF (4) Sorad T

Which one of the following statements is incorrect ?

a. Anordinance cannot contravene the Fundamental Rights any more than an act
of Parliament.

b. An ordinance may be retrospective or may amend or repeal any act of
Parliament itself.

¢.  The power of ordinance can be exercised by the President without the advice of
the Council of Ministers. ‘

Answer options
(1) Onlya (2) Onlyb (3) Onlye (4): None of the above
TUEGT SIS AT | SPACE FOR ROUGH WORK : P.T.O.
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14
WRAE hive TsFAT faum wiees fomem & 2
. ufem se T qieTg
E L g |
g} I
(1) =4 (2) %, % (3) o, 9%

Which States abolished the Legislative Council in India ?

a. West Bengal b. Tamil Nadu
c. Punjab d. Gujarat
Answer options:

(1) ab (2) ¢ d 3) a,bc

> ?

GET IT ON
Google Play
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(4) b,c,d

26.

HRAT=T ‘WEaEad) sed Grefie e e =i .
A, o e Iy FEwEEE YAt TEdE.

. o upgdr 59 378 v 9qTaR UEda.
%, o gug veer fmwiter Revam aw swwam.
g A wEAEE Oof Y wgiR AYS] AEEHE SIHE T

yavel I

(1) faum @1, 9 <= amda

(2) TEm 9, %, s TR e
(3) foum 9, % SR aRa

(4) foum o1, €, %, & T A

Consider the following statements about the ‘Attorney General’ of India :

He holds office for a term of five years.
b. He holds office during the pleasure of the President.

¢. Heis entitled to the privileges of a member of Parliament.

d. He is not a whole-time counsel for the Government nor a Government servant.

Answer options :

(1) Statements a, b are correct
(2) Statements b, ¢, d are correct
(3) Statements b, ¢ are correct

(4) Statements a, b, ¢, d are correct

FHo=AT HHETEIS] SN / SPACE FOR ROUGH WORK
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27. HHEFSHAR 90 HY A9 (VEREE TRUE) ¢
. foomedt vdi ( ¥, Bl e gara i
%, drH. Est 3.  died =
Qi IW
(1) 2,9, (2) ¥, 9,3,%
3 H,T 49 4) A, %, 9,3
Arrange in an appropriate order according to the tenure (Governors of Maharashtra) :
a. Vijayalaxmi Pandit b. Dr. Shankar Dayal Sharma
¢. P.C.Alexander d. P.V.Cherian
Answer options: .
(1) ab,ecd (2) a,b,d, ¢
3) adb,c _ (4) a,c,b,d
28. WIEE Aeen IrAYY o
HTH o
A, Fow —54 I % sEed war tyeds fowrh fada oma
9.  %o™ —53 II. warear Tgad ot s wet faes 45
F. HaH - 58 III. sRer=an Upadt s weifiem gfear
3. oW - 61 IV. wRarsar Ugadi =t fRasoht =t <t g
@rdiet feciean wharga 2/ I fasn
it I ; .
H q L3 3
1 IV 111 I I
(2) 1II I v III
3 I II v I
4y 1 v mr 11
Match the following pairs correctly :
Articles Provisions
a. Article — 54 . The Executive power of the Union shall be vested
in the President
b. Article — 53 II. The electoral college for the election of the President
of India

c. Article - 58 III. Impeachment process of the President of India

d. Article-61 IV. Qualification for the election of President of India
Choose the correct answer from the codes given below :

Answer options :

a b c d
1y IV I11 I II
@ I I v ITI
3 Im .1 AY I
4 I v I 11

T HETATS SR / SPACE FOR ROUGH WORK P.T.O.
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29, g HHIA @l
3. Ao gt Arern afid e e o fifissen 1972 7 .
g, QR gt TeET TR HERIEHE) 1975 W Sl
%, Qe gt Ao SRS TR SR §EAT 25 .
it 3w :
(1) T, @) wH,® 3) ww D 4) wHa

Select the correct statement/s.

a. Employment Guarantee Scheme Committee was estiablished by Maharashtra
State Legislature on 1972.

b.  Employment Guarantee Scheme was initiated in Maharashtra on 1975.

¢. Total number of members in Employment Guarantee Scheme Committee
are 26.

Answer options :
(1) Onlya,b (2) Onlyb,c (3) Onlyc (4) Onlyb

30. Tear=m gy wivar gasft welte faum fa=ma o .
#. A TS GG TR WIE TRV FRAA HEAT.
g, | OhHIGH @ TEE WU HRRA A8,
%. d fownfia oftse= (Zonal Council) 7o 9= wup@ rRa siad.
T 3 Ua A g e A BTSHR W@ SIS RV SRR SEd.
% d It S aRE (Residual Legatee) TRV 19 &AM,

a3 ; ,
(1) fum o7, 8, %, 3 <O AEA 2y fom s, =, T, € als A=
3) M x, 3, g, § WHIRA (4) foam =, 1, %, § 0= oNEa

Consider the following statements about the Chief Secretary of State :
a. He acts as the head of the State Civil Service.

b. He acts as the crisis administrator in chief.

c. He also acts as the Chief Secretary of the Zonal Council.

d

He acts as the principal channel of communication between State and Central
Government.

e. He acts as the Residual Legatee.

Answer options :

(1) Statements a, b, ¢, d are correct (2) Statementsb, ¢, d, e are correct
(3) Statements a, b, d, e are correct (4) Statements g, b, ¢, e are correct
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31, 9 HR AeE
H, FK AN T9aS 94 ARER TPdien 1R,

q. W Ui arwas B APR TSATTART 2.
. ﬁﬁsﬁﬁﬁrmrrgq?ﬁwmm.

3. g e e TeaaTer g1 o1 FE TG,

i) I .
1) w & AT (2) wrdE, 3 3) HHHA,® 4) BHH, S

Select the correct statements :
a. President has all powers of court-martial.
b.  Governor has some powers of court-martial.
Death sentence can be pardoned by the President.
d. Death sentence can also be pardoned by the Governor.
Answer options:
(1) Onlya,b (2) Onlyb,d (3) Onlya,c (4) Onlyc,d

32, Wil faam foama =

A, w&%mmWnﬁmmﬁmmmﬁmmﬁ
WS ST ATE.

. mwmmmmwmmm
FivreaTg! AeaE - T ITeft W TRl g ol 99 el ah - HiEe I

AftrR TR,
qardy Iy :
(1) Fwm 5 aOw @ fum e =
(3) A fgm h=h (4) A faum T

Consider the following statements :

a. Nolaw made by Parliament shall be deemed to be invalid on th'e ground that it
would have extra-territorial operation.

b. Parliament has the power to make laws with respect to any matter for any part
of the territory of India not included in a State notwithstanding that such
matter is a matter enumerated in the State List.

Answer options:
(1) Statement a is correct (2) Statement b is correct
(3) Both the statements are false (4) Both the statements are correct
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33. i oM@ (WA I e )
‘o’ (3= =TT ‘@ (TuTaT )
A, TN 1975
¥ fohm 1949
F. TS W 1936
s kg 1966
Tt I ;
H q 3 k-t
1 I 11 IIT AY
(2) II I I11 v
3) 1 IT v IT1
4) IV I11 II I
Match the pairs (High Courts in India) :
‘A’ (High Court) ‘B’ (Establishment Year)
a. Rajasthan I. 1975
b.  Sikkim II. 1949
Madhya Pradesh III. 1936
d. Della IV. 1966
Answer options :
a b c d
(1) 1 I I11 v
(2) 1I I 31 v
3) 1 I v II1
4 IV II1 1T I
34, gum wEmy feumaterE TaeREY 3 Igfad At Uel sgg oMo
__ WeREd R HIHiea SArden e e,
(1) 33-14 (2) 15-16 (3) 29-25 26 — 27
At present constituencies are reserved for Scheduled Caste and
are reserved for Scheduled Tribes of the Legislative Assembly of Maharashtra.
(1) 33-14 (2) 15-16 (3) 29-25 26 - 27
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35. A FE IS
a1, o Fdws gdyun o eRad Wis 919, Yk,
T W fiEs gdvew dee R Teaet i STl aETTRTe Hiee i T
%, Tggdiea Dend um i gugHel viga g ekl
T AW fdas R Tyaden R daene) wiear 3 vl

gt IW ;
(1) ®FH,E (2) ®hH,E
(3) BB A, 9, S 4) ®HH,E,T

Select the correct statements :

a. A Money Bill can be introduced only in the Lok Sabha.

b. An Ordinary Bill can be introduced either in the Lok Sabha or Rajya Sabha.

¢. A Money Bill can be introduced in Parliament on the recommendation of the

President.

d. An Ordinary Bill can be introduced in Parliament on the recommendation of
the President.

Answer options : . '

(1) Onlya,b (2) Onlye,d

(3) Onlya,b,c (4) Onlya,b,d

86. wEiIH B fuEs gt sTRA 2
., ITeD2-365 i U TsuId UPYd Tsiae S HoArET TSR YgH .
4. Ugud UeEdE dieen wewdigd U Rigrea weEild o Wy eeaem Qe
BUTEAT WI=TaT QU] AR 3760,
. W HELA G GUREFT Aar et R i o ant Tt et S TE.
8. Yt U Sy FwrEn ol =R 1€ %% el
atdt am
(1) ®Fd @2 wmaAfs 3 wFafe 1) wmAAME

Which of the following statement/s is/are not correct ?

a.  Article-365 also empowers the President to issue a proclamation of President’s
Rule in a State.

b. A proclamation of President’s Rule must be approved by both the Houses of
Parliament within one month.

c. If approved by both the Houses of Parliament, the President’s Rule continues
for one year.

d.  The decision of imposing President’s Rule can be struck down by the court.
Answer options : ‘
(1) Onlyb - (2) Onlybande (3) Onlycandd (4) Onlyaandd
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317.

20 A

Grietsl Hiv Ry avar g 7

(1) TS AEvsIHIa GeRlisl Y& TEavs Sfaie umad=a wgul qe qeis
15 ZaTIET R IEAT HAT T,

(2) TSI URHERTH Ve el JErTiE 12 Y& S g s .

(3) fegen ahives g g& fqesn Ul oo == 15 e Ffvaa soaa
et 3T,

(4) TS wdl T

Which one of the following statements is correct 7

(1) The total number of ministers, excluding the Chief Minister in a Stdte shall not
exceed 15 percent of the total strength of the Legislative Assembly.

(2) The total number of ministers including the Chief Minister shall not be less
than 12 in a State.

(3) The strength of the Council of Ministers of Delhi is fixed at 15 percent of the
total strength of the Legislative Assembly.

(4) None of the above

38‘

GEAEAE R TTF T TSIaUT H90 U 6. HIEd ?
A, HREA T

CAR I C

%, fearme wew

T fogmm

3. IaUEd

aatzft 3= :

(1) A, 9, % (2) B, %, §
(3) BHF, S, 3 (4) %h A, 49,8

W'hich of the following States has only one member in Rajya Sabha ?
a. Arunachal Pradesh

b. Goa

c. Himachal Pradesh

d. Mizoram

e Uttaranchal

Answer options :

(1) Onlya,b,c (2) Onlyb,c,d
(3) Onlycd, e (4) Onlya,b,d
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39, cirpaieH RaguhEdl e T W 91 Y.
(1) vRaE TEUTT Yhehed
(2) S AT TREREREA
(3) =91 HAGER U FESvE dedEdl A8 w1 HaGR qurial gare wgd
(4) AR SRAA TINE S FIEE GEEE HagR SHIST FagRa T 96 digeaa
ATE ATHA
For election to the Lok Sabha, a nomination paper can be filed by
(1) anyone residing in India.
(2) any citizen of India.
(3) aresident of the constituency from which the election is to be contested.

(4) a citizen of India whose name is enrolled in the electoral roll of any
" parliamentary constituency.

40, e WE (TEA AR

‘3‘.’ : ‘a»’
. wrarsal §qUi fhan waren wemma stofiEmft I  39<az 360
4. AggarA fadwna 9v o yidey II. 3IT<=a 354
®. Y I TR S . 31g<ag 352
g T soffamfi=h whyon IV. 3<% 359
i It

k) L - ¢
(1) III II I v
2 1 IT m 1
3) III II v I -
4 M v o I

Match the pairs (Powers of President) :

¢ A’ ‘B,
a. Emergency in the whole or part of India I.  Article 360
b.  Restrict or prohibit the distribution of revenues II. Article 354
¢.  Suspend the enforcement of fundamental rights ITI. Article 352
d. To declare a financial emergency IV. Article 359
Answer options : :

a b c d
(1) III II I v
(2) 1 II III v
(3 III 11 IV I
4) III v II I
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41, FuE TF P fawarama s F& w0 St
q. T et atfes TSt oow e frwaraed) e wuar st mueen faed e,
F.  THEGRT HEETRA1 SHUIT e TSS9 T8 S HTET SgHa el $hedry.
lierdeh! FHe fqum/A avier ARa ?
i I ;
1 #A,9,% (2) wEd A
(3) wad § o & (4) THAH ) T
The Parliament can make a law on a subject in the State List when
a proclamation of Financial Emergency is in force.
one or more States make a request to the Parliament to make a law on a State
subject.
c¢. Rajya Sabha passes a resolution by simple majority that such subjects have
acquired national importance.
Which of the above statement/s is/are correct ?
Answer options:
(1) a,b,c (2) Onlya
(3) Onlybandc (4)  None of the above
42, HHA HUwR 9 H1F AR
A, WHR T fohar 9T F0.
s, TfE ol
F. At e gwie @t dan.
S,  dfqumEr wew F.
gt I W :
(1) $H A, 9, H (2) R E, &, S
(3) B 3A, H, § 4) $E A, 9,

The role and functions of the Parliament are

a.
b.
c.
d.

to form or end the Government.

to call for information.

to monitor the expenditure of public funds.
to safeguard the Constitution.

Answer options :

(1)
(3)

Onlya, b, ¢ (2) Onlyb,c,d
Onlya,c,d (4) Onlya,b,d
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43, s dfn Frefidre @ amels) wRe g wed

I, TEER gHEA 9 WL

4, YauuFr HEEE 9 5.

%, T AT} ¥ 9 .

3. R FeEs 9 neee W 36 9 Y.

Tt I

(1) T A, 4, (2) PO H, S, T

(3) SHHA,H,S (4) =iw wd

The expenditure charged on the Consolidated ¥und of India shall include

a. the emoluments and allowances of the President.

b. the emoluments and allowances of the Prime Minister.

c. the salary and allowances of the Chairman of the Council of State.

d. the salary and allowances of the Comptroller and Auditor General of India.

Answer options:
(1) Onlyab,c (2) Onlye,d,b
(3) Onlya,ec,d ' {4) All of the above

44, fEs T vERwE TiEs 9" F9 oA W
(1) VIRara FEEHa Tgmded w6 Tpydisgd v Fa 9 .
(2) waEHg FfvE a1 w. |
3) ¥ ivsen TgHand weT TgudEr fved we 9.
(4) *E Tz RiFmE Fo 9.,

The salary and allowances of the Comptroller and Auditor General
(1) are determined by the President in consultation with the Chief Justice of India.
(2) are determined by the Parliament.

(3) are determined by the President in consultation with the Union Council of
Ministers. '

(4) are determined by the Union Council of Ministers.
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45.

24

JArea AT (RET §e ) ¢

‘o (wew am) @ (wgw wE)
#,  feu=w w2 I 2
R o I 4
. IAES 1. 5
3. Tar v. 6
gt I

AN E] & )
(1) Iv IT1 II I
2 II A 1 |
3 1l 1 111 v
4 1 v II 11

Match the pairs (Member of Lok Sabha) :

‘B’ (No. of members)

‘A’ (State)
a. Himachal Pradesh I. 2
b. Jammu and Kashmir II. 4
Uttarakhand II1. 5
d. Goa Iv. 6
Answer options: |
a b c d
1) Iv 111 I1 I
(2y 11 v 111 I
3 L 1 T v
4y I v I1 III
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46. Wﬁﬁmm’mﬁwmqﬂﬁmmvﬁumw7mqﬁﬁa TS FHoIT
AT 1R ?
(1) a9 2 A
(3) wEEdl (4) HdT AR
‘Local government’ is included in the list in the 7% Schedule of the
Indian Constitution.
{1) Union (2) State
(3) Concurrent {4) Residual Powers

47. TEWIRYIVER NYETEEH fumRd wge faum Ree
3. FEERARTR A5HWel YR I90 qEvTh 8% v
T, 1 ASHEE AGFA A AT B AT
®. A A ASHHS HOTAE TS AIG Tehd e

ot I ;

(1) =, it = (2) W A AT

(8) w3 afr % (4) v 0

Find the correct statements from below about Commissioner of Municipal

Corporation.

a. The Commissioner can participate in discussions in the meetings of the
Corporation.

b. The Commissioner cannot vote in these meetings.

c¢. The Commissioner cannot make any proposition in the meetings.
Answer options : :

() a,bandc {(2) Onlyaandb

(3) Onlyaandc © (4 Onlybandc

48, T Tm O AfEE w1 Esn qedt geie faum /3 Fas.

H A AR Hg Frem anfr o9 fem 9@ @ wm e,

¥ U9 FEm e Sg-usy Swevfi ik 60 : 40 IR,

F. I WRE SN ST TSIl Syt Seofs e 90 wenﬁzmé
€. T shzmdia veuTETE) AR iR 80 : 10 IR.

gaidt I ;
1) #,9, Fareg (2) waa 9 aMfor %
(3) w9 F MV T 4) wHE

Find the incorrect statement/s about Rashtriya Gram Swaraj Abhiyan.

a. The scheme congists of Central and State components.

b. The Centre-State sharing pattern for the State component is in the ratio of
60 : 40.

c. - In North-East and Hilly States, Centre-State sharing pattern is in the ratio of
90 : 10. '

d. For all UTs the sharing pattern is in the ratio of 80 : 10.

Answer options :

(1) a,b,candd (2) Onlybandec

(3) Onlycandd (4) Onlyd
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49. T NSBIVAF gaﬁé/gaﬁa?ﬁmff%wﬁﬁaa.
T, mmammmmammmmmm

F.  AIFESITEN HIF NS o JeRI IR
vt I

Q) A, dAMF (2 wRWAINF (3) FTHIAAME 4) WA

Find the incorrect statement/s about Cantonment Boards.

a. ‘Local Self Government in Cantonments’ is included in the concurrent list in
the Indian Constitution.

b.  Cantonment Boards are democratic bodies which look after the municipal
administration of notified areas.

¢.  There are three population-wise categories of Cantonment.

Answer options :

() a,bandc (2) Onlyaande¢ (3) Onlybande (4) Onlya

50.  T9Td WEhiTd gre HeMia geia famim @i fawm fae.

(1)mqﬁwmmﬁwm?ﬁwwmamﬁmmﬁﬁﬁwﬁﬁ%€ﬁw%w
FTEEN U Al

(2) TaEE U9 @R A g Iwnfd e geiva aitwg it € e @ et o

(3) =1 ggR TRt U geE e, faa o sl 99 i S 9.

(4) @ gt Hifa smam 3 ofio fewm @ g @R Fe R,

With reference to Panchayat Devolution Index, find the incorrect statement.

(1) The Index assesses how far the States have progressed in empowering
Panchayati Raj.

(2) The Ministry of Panchayati Raj and the National Council of Applied Economics
Research have prepared the Index.

(3) The Index measures the functions, finance and functionaries of the Panchayati

Raj Institutions.
(4) The Index was prepared by the NITI Aayog and the Ministry of Rural

Development.

51.  WER TUTE |Uen AT v fmaEran waaw gt ?
A, W T O g, oA
F.  AISIE G A o
atdl I
(1) %Fd A, TN g (2) ®HE T, ® A
(3) Had A, F AN (4) o 3, F I &
Which subjects are included in 191 Schedule of the Indian Constitution ?
a. Roads and bridges b,  Fire services
¢. Slum improvements d. Postal services
Answer options :
(1) Onlya,bandd (2) Onlyb,candd
(3) Onlya,candd (4) Oulya, bandec
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52. TufeREeyid @rehe fqum foemog o
“o qif Traifereaed 38 4 65 W AHard.

A,

¥,  “T o TRefeue 23 @ 37 Ao ITHAT.
%, “@® g1 TRAMEHAEY 17 23 HSE 1A,
g “g’ i Trwfehael 111 17 9eH JTHA.
R Fvd e Fvlar omea ?

T I® _
(1) S A, € AN ® ‘ (2) $FI G, F A T
(3) waa 31, & o 8 (4) TR A, TS

Consider the following statements regarding the Municipal Councils :
a.. There are 38 to 65 members in “A” Class Munjcipé] Councils.

b. There are 23 to 37 members in “B” Class Municipal Councils.

¢. There are 17 to 23 members in “C” Class Municipal Councils.

d. There are 11 to 17 members in “D” Class Municipal Councils.
Which of the following statements given above are correct ? '
Answer options :

(1) Onlya,bandec (2) Onlyb,candd
(3) Onlya,candd (4) Onlya,bandd

53. TG U afidrear RrewE Howia EEiatE SR/d RumA swe s/ ?
¥, =g YeEdE aedl sSagedn d9vard T,

F. oo ofiween foee wiy onfde faiemmd Sawer stvam a@.

it I

(1) o A , (2) & 37 AT §

(3) wRA @ wE T E

Which of the following statement(s) regarding the Ashok Mehta Committee is/are

incorrect ? :

a. The Ashok Mehta Committee recommended the creation of a three-tier system
of Panchayati Raj.

b. Nyay Panchayat should be kept as separate bodies.
c.  Zila Parishad should be made responsible for economic planning at the district

level.
Answer options :
(1) Onlya (2) Onlyaandb
(3) Onlyb (4) Onlybandec
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28
Jufquriy st =@ T2,
. Hegel AER wHAH § qIrEof e
4. i gesmEen agieEy Ry 39
%. gt o wam fevamemsa R s
T

. YIS WITEAT quveefl s

qgidt I

(1) e N, § AM & (2) %o, § I g
(3) W& A, % HMI 8 (4) %o §, % A€

Duties of the Sub-Divisional Officer are
a. To supervise and inspect all revenue matters
To give decision in cases pertaining to land rights
¢. Torecommend to the Collector for grant of arms license
d. To inspect school administration
Answer options: ‘
{1) Onlyabande (2) Onlya, bandd
(3) Onlya,candd (4) Onlyb,candd
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55.

feamren st sdfiet =t 3 ?

(1) g ~=maeErs 15 femgrn s

(2) I AETEETRS 30 fEgaren I

(3) fomftg sy 15 feagi=m 14
(4) Foee Fraews g 7 feqarem M

To whom and when can the appeal be made against the judgment of a Collector on

the disputed election of a Sarpanch ?

(1) To District Court within 15 days

(2) To High Court within 30 days

(3) To Divisional Commissioner within 15 days

(4) To District Election Commissioner within 7 days
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56, @O Al T WO ArsueHTd Wil T faema e
a. & I oiea DEEd TP TE SHEdt Teemd Id.
T @A siwa FEA AT VAT S AR FEEeaed I R s

QIOTET JEST Hell ).
F,  q AT TEHERT TIAT HIAET qfHet 20am el 1.
giadhr wrm/d s aner smra ?
qatf I ,
(1) e 3 oMl § (2) a4 & 3TfUr %
(3) e 3 MM % (4) HHF .
Consider the following statements regarding the Swarna Jayanti Gram
Self-employment Scheme :

a. This scheme is implemented to assist famlhes living below the poverty line.

b.  Under this scheme financial assistance and government subsidies are provided
to furnish the families with permanent income generating tools.

¢.  Self-help groups are not assigned any role in this scheme.

Which of the statement(s) given above is/are correct ?

Answer options :

(1) Onlyaandb (2) Onlybandc

(3) Onlyaandc (4) Onlyc

57. Wehe faum faame =
. waﬁ?ﬂmﬁmmwﬁm%ﬁa@mm
9. UNEd TaeEle Reevs devedt wHi w9 18 9§ of I Wi,
. Yard USd geie asvE Ty e s AnieRiTEe Bae Jw.
T. Wﬂ#mﬁ?ﬁwmmawmmmﬁaaﬁmﬁmm

A wivr/d faum awar s 2

it I - |

(1) e o A g (2) ad H, & AT
(3) Faa A (4) ad A Ifor €

Consider the following statements :

a. The Panchayat Samiti and Zila Parishad members are directly elected.

b. The minimum age should be 18 years to contest election at the Panchayat level.

c Elections to the Panchayat Raj Institutions are conducted under the guidance
of the State Election Commission.

d.  For the financial review of Panchayats, a Finance Commission is established by
the State Government.

Which of the statement(s) given above is/are correct ?
Answer options :
(1) Onlyaandb (2) Onlya,candd
(3) Onlya ' (4) Onlyaandd
O] HTHAIS! SN | SPACE FOR ROUGH WORK ' P.T.O.
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58. weld faum fmmE =
. SOEaUd HEdT Gt T 1957 HEY 9ROAT oTel B
9. SoEaY HEd OeT e Al gesE g
% o gohim, A, e, §.f. G R w1 afeli= 3o ae= B :
3. WA #dvyd Gt 99rd 19 Saaeid e T 3 Feft.
el St foam aviar amed 2

T I A
(1) e 31, & o701 W (2) ®Fd I, ;NS
(3) wad A, & Mg (4) wE T, % g

Consider the following statements :

a. The Balwantrai Mehta Committee was established in 1957.

b. Balwantrai Mehta was the ex-Chief Minister of Madhya Pradesh.

c.  Thakur Phoolsingh, B.G. Rao, D.P. Singh were the other members of the
Committee.

d. Rajasthan was the first State to implement the three-tier Panchayati Raj
System,

Which of the statements given above are correct ?

Answer options :

(1) Onlya,bandc (2) Onlya bandd
(3) Onlya,candd {(4) Onlyb,candd

59. @i faam famma e
A 73 TAGEHI ATATAEN HAR TEAE B WA WEH T 3.
. 73mwgm%ﬁﬁmﬁmmﬁwmﬁgmm
afieth R/ faum @gar TR/ 2

gafH I
(1) & 3 (2) SO W
(3) Fawrs (4) 31 M7 ¥ St T

Consider the following statements :

a. Maharashtra became the first Indian State to implement the
73" Constitutional Amendment.

b. Mizoram, Meghalaya and Nagaland were exempted from the
73" Constitutional Amendment. :

Which of the statement(s) given above is/are correct ?

Answer options :

(1) Onlya {2) Onlyb

(3) aandb (4) Neither a nor b
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60. S Tl (weEgfiv e T=Ed)
‘ar i
A, W i. R
¥, 9o i. wUw
% ¥4 jii. ST
5. b= v, 3R
it I ;
A L | ® k-
(L iv iii i i
(2) 1 iv i - i
3 i1 iii iv i
(4) iil ii iv i
Match the pairs (Panchayat in Medieval Age) :
‘A! ‘B!
a. Moga i, Shikdar
b. Pargana ii. Sarpanch
¢. Prant iii. Amalgujar
d. Shik iv. Amir
Answer options :
a b c d
1) iv 1il 1i i
(2) iil v i i
3) ii iii iv i
(4) iii il iv 1
61. U¥E =t FgH AN @ TN G T AET A6 Wieie SAhiaT GHEY 6 -
A, A Y& A
9. T WG 2 SUE AR §e = e weerer
%, uUsar, fadt anfor =msh _
3. oF faeam =ufe, 3 Tk F I TR wAE gR W, TauuH, YR 0ed
a1 STfer fatrfasmEr Jar sEA
i I ; .
(1) valE &, 9 anfn % Ing Inga (2) wtg g, % afr 3 9 s
(3) o IO T I IR (4) wd valg A g

There shall be a commission to be known as National Judicial Appointments
commission, consisting of the following, namely :
a. The Chief Justice of India

b. Two other Senior Judges of the Supreme Court next to the Chief Justice of India
¢. The Union Minister Incharge of Law and Justice

d. Two eminent persons to be nominated by the Committee consisting of Prime
Minister, The Chief Justice of India and the Leader of Opposition

Answer options :

(1) Option a, b and ¢ are correct (2) Option b, ¢ and d are correct

(3) Only option d is correct (4) All options are correct

T HIFTATST SIFT / SPACE FOR ROUGH WORK P.T.O.
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62. THUETHidl IAY 9 GGG aHA FEeId UPYS), HREWER HeEH avEl TErn
EET T 9GTa6 g 2ehie], TR STeas 3Tl §eed, 91 faeg Wiefiel Johivr olfe @

§. oAl HECITA/AEAT HdeaEEgl TERt 9h Al el YEedl TeaE e
HECATH

. Uyudten et af it e amiis geeaye 15 91g ST SR SHeE.
T, MNEdvEhETE! gl 3T .

it I

(1) v &, & aft & arg A4

(2) wd g A oTRd

(3) A g, % N g IPT aned

(4) UAMT 1, ¥ 0007 T IFY FEA

In case of a complaint against the Chairperson or member of Lokpal, the President

may, by order remove from the office, the Chairperson or any member, if the

Chairperson or such member as the case may be

a. is adjudged insolvent.

b. engages during his term of office, in any paid employment outside the duties of
his office. '

c.  in the opinion of the President, unfit to continue in office by reason of infirmity
of body or mind.

d. deemed to be guilty of misbehaviour.

Answer options :

(1) Options a, b and ¢ are correct
(2) All options are correct
(3) Options b, ¢ and d are correct

{4) Options a, b and d are correct

63. . Tt WEAET GedTER! SRS STNT 0w ?

(1) Tgw (2) gaNHH

(3) AT dETATi (4) wuE

By whom is Advisory Jurisdiction of the Supreme Court used ?
(1) President (2) Prime Minister
(8) Chief Justice of India (4) Parliament

FoAT HETS! S | SPACE FOR ROUGH WORK
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84, UGH o, UNAR TsOmeAsN Agesg 217(2) Il wreftaudl wver wfifeudlm 3=
AT e Bvm g S O SR 7767 ?
(1) uH ARart AT 8T @
(2) o HhI WHare TsERE e 10 9 =nifes 9 unw Fee e
3) @ = I= TEEEE owmar oF fRa e e awive w10 ad
afirerht T
(4) wn = He aiizen fera Hdt am

Under which of the following conditions as per Article 217(2) shall a person no# be
qualified for appointment of a High Court Judge ?

(1) I-fe 18 a citizen of India

(2) He has held a judicial office for at least 10 years in the territory of India or of
two or more such courts in succession

(3) He has worked for not less than 10 years as an Advocate of a High Court

(4) His name is not recommended by the Council of Ministers

65. WIEAYh FIATE HONGE Hed AR FE Ham Ja
A, Nefig ga
q. I
. Wit IR, Tafetiear Iy T, TR, 9 G 5ol |t e
3. OAEREA TR EE FE HUA THR 7o Telid Heedl v SN 3 9y Siedid
it I
(1) wgE ¥, & 71 F 4 nRd
(2) MW, F IO € T4 AR
(8) =& i 9 aRd
(4) waa yatg 31 anfer 9 9 anda

Ordinarily the letter or petition falling under the following categories should be
entertained as Public Interest Litigation :
a. Neglected children

Bonded labour matters

b

¢.  Petition against atrocities on women, bride burning, rape and murder, etc

d.  Petition against the police for refusing to register a case and also for
harassment by police in police custody

Answer options :

(1) Options a, b and ¢ are correct

(2) Options b, ¢ and d are correct

(3)- All options are correct

(4) Only options a and b are correct

FHeedT BT ST / SPACE FOR ROUGH WORK . P.T.O.
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66,  CETSAT IS @il Hur/dt faums e a2
. @ A wened 1ol 2002 ¥ 31 o, 2007 A
7. A g v 8%
®. AR 9 T 10%
3. 2007 wia werar 9@ 7%

U‘d‘i‘ﬁaﬁz
(1) o A (2) wad ¥ 0T
(3) % A, 9 AT = (4) STt e

Which of the following statement/s is/are applicable for the Tenth Plan ?
a.  The Tenth Plan’s duration was 1 April, 2002 — 31 March, 2007

b.  Target of GDP growth was 8%

¢.  Target of industrial growth was 10%

d. Increase of literarcy to 7% by 2007

Answer options :

(1) Onlya (2) Onlyaandd

(3) Onlya,bandc (4) All of the above

67. Weieyeh! Hoft forepraTe Ia-9%] SEtedr AR sl ?
(1) wEeHEE
(2) T
(3) #.wm. ahia nfin f.em. FrErg
(4) &y wrEdl
Who of the following formulated the wage-goods strategy of development ?
(1) Mahalnobis
(2) Ragnar Nurkse
(3) C.N.Vakil and P.R. Brahmananda
(4) Jagdish Bhagwati

68. WA sl T&g SRer Sror/dt /A ?

. ThgomEr sne 9. USTR gR

®. I GAEE T gfea

Tt IW

1) wRAAMIT (2) FWH (3) W A MIE (4) A we
Which is/are the main cause/s of unemployment in India ?

a. Lack of education b. Employment policy

c.  Inappropriate technology d. Poverty

Answer options :
(1) Onlyaandb (2) Onlyc (3) Onlyaandd (4) All ofthe above

FTEIT SIS} IR / SPACE FOR ROUGH WORK
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69. TYR SOEHR 2:1 T4 A Al 918 UeE — A0 ¥ yfRew veEie deee ded g,
p ot S \ I 8
(1) wioardt 3-3 28 a0
(2) el 4-2 28 T
(3) vfeadf 4.5 2% @
(4) gfoadt 56 7 TR
The First Five Year Plan’s target was 2-1 percent per annum increase in national
income, actually it was fulfilled by
(1) 3-3 percent per annum
(2) 4:2 percent per annum
(8) 45 percent per annum
(4) 5-6 percent per annum

70. GEh YA HG T IR TFG e i genors e 3o ot I awea
Teife 2 '
(1) wewg (2) 99= (8) 7@ 1) *@
Which of the following States in India shows a wide variation in higher human
development and relatively lower income ?

(1) Maharashtra (2) Punjab (3) Gujarat (4) Kerala

71, WRAR FAYHaR FANE qET ATeEH HITdt ?

A, USSR IqH

¥,  IqIEIS fauAdr

®. qfca

3. St wwen

W‘hﬂ'ﬁﬁ:

(1) % H (2) BHSF
(3) wEd ¥ I =% (4) wneh wd

Which are the main challenges in the Indian Economy ?
a. Low per capita income

b. Income inequality

c. Poverty

d. Problem of unemployment

Answer options ;

(1) Onlya | (2) Onlyb

(3) Onlyaande (4) All of the above
TN HITATS! SR / SPACE FOR ROUGH WORK . P.T.O.
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72. Greld faud faawre @ .
3. 1984 T HERTY WETH YRR sreHdivier geamitye aftrd e 3e.
9. @l fam IR = wfirde sy BN
et HoR/d QurA avtar s/ 2 .
(1) & (2) o« (3) e (4) =¥ AT
Consider the following statements :
a. In 1984, the Government of Maharashtra appointed a fact finding committee
on regional imbalances.
b.  Dr. V.M. Dandekar was the Chairman of that committee.
Which of the statement/s given above is/are correct ?

(1) Onlya (2) Onlyb (3) aandb (4) None of these

73. mﬁaﬁaﬁwm‘rﬂm%ﬂ’uﬂww@?

H. i &

9. P&

%, GEHA &

s e ax

it 39 |

(1) e o (2) v amfrs (3) wE (4) TR} ATEL

Which sector is assumed as ‘Core sector’ in the Tenth Plan ?
a. Industrial sector

b. Agricultural sector

¢. Co-operative sector

d. Educational sector

Answer options :

(1) Onlya (2) Onlyaandb (3) Onlyb {4) None of the above

74. 2011 - 1277 af 2004 - 05 =41 f&R ffudien g gemn e fem v o 7
(1) 16-48 (2) 2611 (3) 5742 (4) 29-64
What was the percentage share of tertiary sector at constant price of 2004 — 05 in
the year 2011 -127?
(1) 1648 (2) 2611 (3) 5742 (4) 29-64

75. @efiedehl FvEr 3TF 1999 — 2000 e WA afigard T guifeat ?

(1) 360% (2) 27-10% (3) 26-1% (4) 37-3%
Which of the following figures indicates rural poverty ratio of India in 1999 — 2000 ?
(1) 36-0% (2) 27-10% (3) 26-1% (4) 37-3%
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arei| 13 20ﬁ1kﬂuﬁmﬁ@i€mmﬁammﬁﬁaq@mm.mamm
wEaER The faum fae

(D
(2)
(3)
(4)

' 20,A,16,15,4,B,12,C,10,7,6,D, 2,17, 14,9, 8,5, 18, E
D 71 Fuier fHwa B =01 fhwdiqan aged.

E a1 quignr fhwa Rfvaade 13 ame.

A 7 quiienrh fhva Rfseaao 3 o,

B = ffma v @ 1 et 19 oa.

Given below is a list of natural numbers 1 to 20 in such a way that sum of each
adjacent pair is a prime number. Study the list and select the false statement with
respect to it.

(1}
(2)
(3)
(4)

20, A, 16, 15, 4, B, 12, C, 10,7, 6, D, 2, 17, 14,9, 8, 5, 18, E
Value of alphabet D changes according to value of B.
Value of alphabet E ig definitely 13.

Value of alphabet A is definitely 3.

Value of B may be either 1 or 19.

1.

Braeea1 AR Wiftha W T3 won sgers e

1

(3)

Ji
[ Y
L N <
fi N
J
L
L
f
r
15 30
8 2

Select the fraction that represents lined part of the accompanying rectangle.

(1)

3)

7 N

= —
/_____ N
f
8 17
N 2 -
15 . @ 30
5 1
3 (4) 3
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(1)

3)
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=

1

sl

(2)

(4)

—

u

Left-hand transparent paper sheet is folded to get single square shape as shown in

the options by folding along lines. Select the most appropriate fold.

R

(1)

3)

—

1

1
i

I

@_A

(2)

(4)

&
Ul
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79. 2R Yt A fgugH w geam el T IREHR P T g Sarhr HeE s
| AR TR e et G SevaEE wireaet Srhiar 3 A S S R s

e
3 ft
3 oy
A
49+
5 gt
(1) 36 (2) 15 3) 6 4) 9

Two ants start from point A together and walk at the same speed, one along square
boundary and other along rectangular boundary. Select the minimum distance in cin
each one of them needs to cover for meeting again. :

3 cm

S5cm
(1) 36 {2) 15 3) 6 4 9

80, T TR 19 i Fro TR gen TRERE B, oM i B teT Ao Tidd o agdi
TR TR W o Rraw vwR w3 d g taEn
(1) 20C,, ' (2) 19C44 (3) 20C,, (4) 18C
- Select the number of ways 19 pink balloons and 17 blue balloons be tied in a row so
that no two blue balloons are together if all are otherwise identical.
(1) 20Cy, (2) 19Cy; (3) 20C,q (4) 19Cy4

81. wﬁsmmﬁtﬁmméﬁnﬂaﬁmwﬁﬁmﬁ4%ﬁmwﬁw
FI9S i HTE He arsh 10 et Tvmm S Fe df fed Siat |reTd) ?
(1) 40 frfi (2) 30 fmf (3) 20 fwf (4) 10fef

Jaya travelled a distance of 50 km in 8 hours. She covered a part of distance on foot
at the rate of 4 km per hour and a part on a bicycle at the rate of 10 km per hour.
How much distance did she travel on foot ?

(1) 40km (2) 30km (3) 20km (4) 10km _
T BIRTHIS! SR / SPACE FOR ROUGH WORK P.T.O.
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82. HEWGIT AEEC & HE AAd A AGH w67 o E@SviiE T HOAE T FGA, T
e S fEeT geam el avE e S SR, el WO S oRd, o waie
I FE1 e wE e, AN T eI geard et 9t e Saer B Y wE
FH TRV T 37E0 I ST § wonadq fagd g anfor gameg witarear i
W IS @A a7 s5dia IO 3 gEES! THI. WO 36, TS, feRw, W i
Q&N I WA . A CHAE, Gorh hHETE Mfr sreeEish gt Lomen daeisd
T A€, W W § seEd o at Ay 3 saraed SeredEn R e @i 9=
ITETE A ARG FA; } (ITNGH) T TVETO S1E3e o) AIEew H Hiel ? g ar
Rrhe it I=aH MM R R 9 fara @0, smm e, T @@, Jgum w0 g Siten
w0 g fiesa T8,

Higd=a gEandii=al WrHie SRAE U B Y SEhH AT Ui IR H
(1) oA e Tt ie 3a TR 3R

(2) TaRmTe SETEATNR WIVR AT Erg eI fe st k.
(3) WO gt e s wravaE Tl srEdr.

(4) #OR Fgeht e S qoaE A Jacied sEan.

Much of what goes by the name of pleasure is simply an effort to destroy
consciousness. If one started by asking, what is man ? What are his needs ? How can
he best express himself ? One would discover that merely having the power to avoid
work and live one’s life from birth to death in electric light and to the tune of tinned
music is not a reason for doing so. Man needs warmth, society, leisure, comfort and
security : he also needs solitude, creative work and the sense of wonder. If he
recognized this, he could use the products of science and industrialism eclectically,
applying always the same test : does this make me more human or less human ? He
would then learn that the highest happiness does not lie in relaxing, resting, playing
poker, drinking and making love simultaneously.

The questions asked in the first part of the text reveal that author implies that
human beings

(1) have other needs along with physical needs.

(2) are separated from their true nature as a result of products of science.

(3) are always engaged in seeking the meaning of life.

(4) are always engaged in finding the purpose of life.

83. T onft Fuer gt T sEichwio Ion @erg onda. Gl 3 fX it @ Juaias 399 WaTg
STRd. TRE I T ke 7 iAo 309 Werg, HAed. A, TRe 3 WY el 9

Syeicra Ia9 WBTg .
E’Tﬁ,ﬁﬁ»‘ea?ﬁ?ﬂﬁwm@a{mm?
(1) sfm (2) FomA 3 W (4)

Ravi and Kunal are good in Hockey and Volleyball. Sachin and Ravi are good in
Hockey and Baseball. Gaurav and Kunal are good in Cricket and Volleybail. Sachin,
Gaurav and Mandip are good in Football and Baseball.

Who is good in Hockey, Cricket and Volleyball ?

(1) Sachin (2) Kunal (3) Rawvi {4) Gaurav
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84, “YINId F9ar A ARRHRECHG HEH Aigadd Rl s
iR, st onftn wisaw aren ChdiENG onfdE Iened fwior g1, 9 arEewta s
JeiSH TgE a8 T A1 T WIS A0 UehET S, WA SEUeA FRG bl
IaTdiel TedioRtur Tt S watd WG TR,
Fie mideeurdia st seifdeaA fesr.
RATA T Tdt a Gald 1 NS “arard sHEr 3 A aW 9ed .
ot I , :
(1) 31 FISEar T T (2) € TTear ad
(3) & TeAT THA E (4) o BT Gd
Study the following observation noted by author with respect to “Make in India”
initiative :

W oA

Economic production arises from a combination of lanid, labour and capital. But with

this respect, the hurdles for business are immense. India’s land acquisition laws are

impossible. Trying to buy land drives most entrepreneurs to distraction — or resort to

corruption. The current land acquisition legislation is unworkable. And given the

terrible state of land records, there is no chance anyone can do better. Only the

movement of the rural population to urban life will solve the land problem.

Unfortunately, India’s urbanization is one of the slowest in the world.

Select the appropriate interpretation/s with respect to the above information.

a. “Make in India” initiative is suffering as India’s urbanization is one of the
slowest in the world.

b. Rural population should migrate to the urban areas and vacate rural land for
setting up industries. .

¢.  Government should make laws favourable for procuring rural land for setting
up industries.

d. Government should make it compulsory for rural population to migrate to the
urban area for national development.

Answer options :

(1) Nonebuta (2) Allbutd

(3) Nonebutb . (4) Allbutb

FOT FHTAIS! AR [ SPACE FOR ROUGH WORK . P.T.O.
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85. TA:=A1 The News : A User’s Manual. (FI7T: arRour=7iaid] qrichie) a1 T 2 sig
T ‘oTIeY A w@HeAs o9l hell AR, ¥ AU BT GUNTS GeRi W9 €9H
FIOETS Afeeard sEe F w I0E AR, e ‘TR ST 1 Hedde eEs T
T/ faumA fae.

H. T9HE SAHET RG] JUTAT SHING e geyiege R aradier anfn frafiamo
HEUAT qT$E TSl YURITETS) Heft Hren Siedred Sdfie.

W ITdh ST A SRR auefiend e waeeie fagmget fafn s semen
ST SREETESAT FUATT Hiehe Fdle.

®.  LgreA S AT JEER ATEATE TR gufii SevarEdt w0 gud v € wiiEd
fiszemaen #ea A 9 @B AN R g T SN T A war Id.

3. RIS SIqWT AT e 9 Ffaead gda e s yEtie o1 aaed duah
e fFrafa wrarh 7w W e 9wt sewun s,

qgHt I :
(1) s@liFw
(2) & Qi vl T

(3) W O AT YA HEH 3 AR
(4) UHEN AT HUO T Hed1 YT HIVH FEUF A0 TRAET STavaTe Hed T

De Botton imagines ‘ideal news organisation’ in his new book The News : A User’s
Manual. He expects that this organization exists solely to enrich lives of the
members of society. Select the statement/s that/those does/do not support/s his
imagination about ‘ideal news’.

a. Political news would paint a sympathetic picture of the social realities of our
nation and encourage action to correct its ‘systematic ills’.

b. World news would create a detailed, sensory overview of other cultures for
helping us to break the shackles of our ‘globalised provincialism’.

¢.  War news would help us to know how our war heroes struggle to keep us safe
from our enemies so that we can celebrate their sacrifice and killing of enemies.

d. Crime reporting would highlight chronic human folly and the need to both
understand and control our emotional impulses.

Answer options:

(1) Allbutc

(2) None but ¢

(3) Al as they don’t give any importance to nationalism

(4) None as all of them are helping us to widen our perspectives as human beings
FOT FITATS AR / SPACE FOR ROUGH WORK
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86. Awr: . Fd 9w A,
q. T W sow Sed.
%, u§d wc9 gesd I
fry: 1. wd Besd W IR,
1. T wm WY .
Frgaatg e .
(1) Frewd [ o R
) frewd 1199 am

(3) fiswd 19 1L, & wcw amea
(4) st 19 I, S8 HAacT 3éa

Statements: a. All switches are plugs.

b. Some plugs are bulbs.

c.  All bulbs are holders.
Conclusions : 1. All holders are plugs.

II. Some plugs are switches.

Find the correct alternatives :

(1) Conclusion I is true

(2) Conclusion II is true

(3) Conclusions I and II, both are true

(4) Conclusions I and II, both are untrue

87. U fom wowh Tmed oft afed, o v 9 5t omIg A, He-Aas A Ig A
TRA. WA T AT AN WA I AR, Wefiereh! T 71 femwfar & aw.
I. dg-9Tas UHadl Uh JorT g f daid wHl amEdl.
II. SR o o= steuiisft et amg anfor at =er van rfees sumdl.

TE-TTeTS HI0 3R ?
(1) enfea (2) wie
(3) W (4) ofed fomar ami

In a certain flight crew, the positions of the pilot, copilot and flight engineer are held
by Mr. Aadit, Mr. Dhananjay and Mr. Amogh, though not necessarily in that order
given. The following statements are true for all the three :

I.  The copilot is an only child and earns the least.

II.  Amogh is married to Dhananjay’s sister and earns more than the pilot.

Who is the copilot ?
(1) Aadit (2) Dhananjay
(3) Amogh : (4) Either Aadit or Amogh
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88. TR =it TRIA 10 fhft st v T 160 20, s e S fifem o aaifve
A, Th T A 16 ot o wovariar T 276 2 it wmndt S 9o SR
w1l Fifem go= goue X anwma.

@ ot Wi fraiet ot et g 2

(1) <10

(2) <13

3 T1

4y T 17

A man paid ¥ 160 while travelling 10 km in a taxi which has some initial fixed
charges. Another man paid ¥ 276 for travelling 16 km and the taxi driver charged
double of the initial fixed charges from him.

Then the charges of the taxi per km are

(1) T 10
(2) ¥ 13
3 T
(4) T 17

89. diSTe W= T HIGHT AT FATA] R TR, &1 A dfger™ 94 S e
Fare foure e, SR AT B gAe 991 15 99T S IR, W afsei= A 71 fhd 2
(1 1109% (2) 708 (3) 609 (4) 5099
The present age of the father is twice that of the elder son. Ten years hence, the age

of the father will be three times that of the younger son. If the difference in the ages
of the two sons is 15 years, the present age of the father is

(1) 110 years (2) 70 years (3) 60 years (4) 50 years

90. e 40% faeneath nftmmenEt snfor 70% Yt T} FEEe dEa. W 15% Reneath
it & e A SREIETE) AT Aigaeie SRS @t, aal famaitht Tt T T dease
et eaorard) e,

(1) 5 (2) 15 3y 0 (4 25
In a class, 40% of the students enrolled for Maths and 70% enrolled for Geography. If

15% of the students enrolled for both Maths and Geography, choose the percentage
of the students of the class which did not enrol for either of the two subjects.

(1) 5 (2) 15 3 0 4) 25
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91, WENT QrFeElEl Ul FRUETH Il Gieid FATET JT9 Hell Il

A, mrgﬁh«ﬂm@ﬁm_ﬁwﬁ -

5. e SEeh T (SR = "E'EW'WME;”( ﬁ‘"@.m“' )

: _ Frowm g & (. fe)
. R e e = g v s (3 )

w39
(1) 319U
(2) & TR
(3) AT T WK
(4) & TR

Calculating the density of population in Maharashtra using the following formula :

Population of Maharashtra

. Population density of Maharashtra =
2. TOPTENUE S i S i T SRR of Fistricts

b. Population density of Maharashtra (sq. km)

_ _Total Population of Maharashira
Total area of Maharashtra (sq. km)

Total District area (sq. km)

c. Population density of Maharashtra =
P ensity o ashira Total area of Maharashtra (sq. km)

Answer options :

(1) ais correct

(2) biscorrect

(3) aandb are correct
(4) cis correct

TOT] HHTATS! AN / SPACE FOR ROUGH WORK P.T.O.

AL A e e KM 50 1 M B a el 6 v+ R o et e


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Addal297

L13 46 A
92, Wl faymidh g@#re faum s 2

A, AT WS AT A G690 9 WaWEE SiHid] W e,

q. R &FTen A gigaaran S g gl '

F.  Ylgaar=n SRS AP SR |15 IR idw.
T gfigadren weiauye s gan i faem aftek S g

gt I
(1) %ed 3 (2) 9
(3) wEH (4) TOATH Tt AE

Which of the following statements is incorrect ?

a. Intellectual migration leads to increase in young and talented people in the
arrival region,

b. Intellectual people benefit the arrival region.
Migration of intellectual people badly affects the arrival region.

Migration of intellectual people results in fast economic development of the
arrival region.

Answer options :
(1) Onlya - (2) bandd
(3) Onlyec (4) None of the above

93, TedTg) vdard! REIIyRTe @it R e, g 2 |
(1) 420 (2) 440 (3) 470 (4) 520

What is the length (km) of Sahyadri Mountains of Maharashtra ?
(1) 420 (2) 440 (3) 470 (4) 520

94, SR YSNrAT IRE T RO SFTHH HIORA TgH= G a2

‘ (1) weEd F dim (2) Tdqr 7 andt
(8) Y F G (4) M F A
Which river basins lie to the north and south of the Balaghat Plateau ?
(1) Godavari and Bhima (2) Narmada and Tapi
(3) Panchganga and Ghatprabha (4) Wainganga and Penganga

95. e Rret mEryrA e g R ?

(1) TR (2) I (3) TGER 4) 923
The Astambha peak is in which district of Maharashtra ?
(1) Nashik (2) Amaravati (3) Nandurbar (4) Dhule
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96, Wi T ® dodw Yiea qiven Tt arqar (Redt) s 2
1 172 (2) 174 fft (3) 176 fed 4) 178 feft
What is the distance (km) from the ‘Bombay High’ oilfield to the western side of
Mumbai ?
(1) 172km (2) 174 km (3) 176 km (4) 178 km
97. Wl g Riea TR TG ddid aa wwm (S fmh) I wEE aE.
A @R 3. TR . 7w |
. WEd! 3. Jdl
gt S ¢
1 %3%,9 % A (2) #,9,%,3,3%
3) ¥, 3,83 4 %,%%9 3
Arrange the following districts as per the availability of forested area (sq. km) in
descending order.
a. Chandrapur b. Gadchiroli c. Gondia
d. Amaravati e. Wardha
Answer options:
(1) d,e,b,ca (2) a,b,c,d, e
3) b,a,d,c,e ‘ (4) ec,d,e,b,a
98. 2011 =1 SFNHIER AihEEI=a] FEdd TERIENT SR fHaar Hurs dnm! ?2
(1) dfeen (2) ZEu (3) Tomm (4) <
What is the rank: of Maharashtra in population in India, according to 2011 census ?
(1) First (2) Second (3) Third (49 Fourth
99,  Wicloidh TR TSR ST GF WTST Jaid SiTed @i Sraard 2
H, dNB q.  AED *. fadf O
3. EE) %,  qurEl
e peici ri
(1) Faq (2) F49E (3) 39 (4 A9
Which of the following are the two highest spoken languages by the people after
Marathi language in Maharashtra ?
a. ‘Tamil b. Malayalam ¢c. Sindhi d. Kannad
e. Bengali f.  Punjabi
Answer options :
(1) aandb (2) candd (3) eandf (4) aandd
100. WEeIdehl Hd) T Tigradien I9eaT aTeE! I IR 7
(1) ¥~ (2) fie (3) g (4 "=l
Which of the following rivers is the right bank tributary of Godavari ?
(1) Manjira (2) Shivana (3) Dudhana (4) Sabari
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yegfeaened fafka Fcem fafine arfle w2 wm (16 3%) F. wEgReriii FRebee a1 3
FIEER %% HF HeATd J FIY HUGT FUA O A2, 3 A IS § AR IR WA
o) Feen wiame g foww sfey e afufem -2 adie agdger e
o I¥G 9 St Sl I Uh auiedT SRIEETET it/ fRar T T saR @R ceren Riem
ElERECH

TR FEURRaE A fifeg Foch A2 deeamat IRl € Sy W aiet et
YH AE Y@t anR. WA wharmaradt soargdl Seanm euear swabieRer wmrd
AR grehTehe A faatET Wa U ATavah g, ‘

T ST

7. %. 201, W 99 TR woarErd Ff I ¥ s 2
(1) Tl sEEg s (2) ¥vatsg feRmaTR
(8) T THHIER Tg (4) TEF TEd

ST AR I CN(8) oo e T AT o, e W W I @) wea.
ad GrelidsAT S . 201 @Il IEAE (D) ¢ I T Bl HEA
rEfam fEwEE AR,

w20 O @ @ @

A Tgd T Tgfrhdiel el SRATET qAE] SR-HATS B gEER waaled] giaetedr
FAhEle] W S YA it e Uiun SR $EA GEaEl. geRiar
e SHIEAT TITE dieTdd AT, Ufe a1 v U arae g,
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